MATHS

Maths Working Wall

X

Multiplication Square

718 a10(1112)
819 10/11/12]
16/ 18/20|22|24|

24127|30/33[36

4 9 108201214

BEEE

[}

Eal ed
Ay

- ——————— -

| e e ey 1

Factors are numbers
Factors & Multiples: | that multiply to get that |
number |

: I
Multiples of 18 : 18, 36, 54,72, 90... | M}"t;E’ist?fE "':";?EFS |
In that times table
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i Factorsof 18:1,2, 3,6, 9, 18
]
1
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Maths Working Wall

To find...
50% divide by 2
10% divide by 10
25% divide by 4
1% divide by 100

FDP: Change

5% 025
20% oz
10% ol
1% oo
5% ars
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Fractions:
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Mode = Most frequent piece of data

Median = Once data is ordered smallest to biggest, the
median is the middle

Mean = Add all pieces of data together and divide by how
many there are
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15l = 0.11 = 100ml
11=0.250 = 250ml

Converting Measurements:
13:00 =
Y= S | = 1 litre
e
2 Uy |E ]
15:00 x1000
" >\ | §1=05l=500ml

16:00 ! k 41 =0.751 = 750ml

+1000

sl = 0,01l = 10ml

+1000
22:00 1000 metres = 1 kilometre
. 100cm = 1m
23:00 N S
10mm = lcm
fkm = 0.1km = 100m

e
el
L
e

*1000

+1000

+km = 0.25km = 250m
4km = 0.5km = 500m
Lkm = 0.75km = 750m

1000g = 1kg

15kg = 0.1kg = 100g

+kg = 0.25kg = 250g
1kg = 0.5kg = 500g

3kg = 0.75kg = 750g
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Shape : Angles
i T 5y i i [ oo - -
5 oI .
I tength i : [ 224° l
% i Area = length xwidth | : 119 74"
I <l 63° ol ‘
< 1 [ 20 1
I : . Angles on a straight line Angles around a point .
I basexheight = : i always total 180°. always total 360°. |
J height Area = — | i ! :
I v 1 123 A
. base | : { 50" 50° l
| -1 123 ;
. | 1 !
I Roight Area = basexheight : . Opposite angles that share a vertex are equal. .
5 . .
y | 1 1
I = . A .
1
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: Circumference = mxD I i | A A ]
I - = [ a+b+c=180° a+hb+c+d=360° |
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MATHS

Retrieval Core Maths Knowledge _

Skill 1—Expanding Single Brackets

2m -5

4m| 8m?|—-20m

Skill 2— Skill 3—
Collecting Like Substitution
Terms

Evaluate 3a - 2b, fora=10andb=4

7t+10$'5t'23= 3a_2b (a=10 b=4)

 Tt+10s- 5t-2s= =3(10)-2(4)
p— =30 -8
 Tt-5t+10s-2s=

e = 2y

2t + 8s

Skill 4— Sharing in a Ratio

Share £20 in the ratio[2:5:3}
1) Findthe f

2+5+3= 10
2) Divide the amount by the tot
£20+10 = |£2| =1 part
3) Multiply M("-l n the ratio by the
: : 3 \
x £2 x £2 x £2
£4:£10: £6/

Skill 5—Using Equivalence

4 fern plants cost £10. How much would 20
fern plants cost?

4 plants : £10
xsl lx5

20 plants : £50
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Retrieval Core Maths knowledge

Skill 1— Collecting like terms

Like terms
> R+ a2+ a? ="
BV 220 4% Y= 2y +6x
3x2 + 7xy + 5x% + 3xy
Like terms
= 8x2 + 10xy

Skill 2— Expanding brackets
@4): 20 +\2
4a5) = we- 20

Skill 3— Factorising linear expressions

Factorising = “put back into brackets”
The highest common factor of each term goes in front of the
bracket, and the rest of the factors go inside:

35x +45xy=5x(_ +__ ) =5x(7+9y)
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Skill 4— Sharing in a ratio

shave £20 in The vafio 3: 2
£20

<

&4 o iy e Il
m bar mode showing rafo % 2 and Tofd \enyyth £20
nd | partis £4
anowex s £I2 - £
Skill 5— Equivalence methods 125
10 apples cost £2.50 £1=91.25
So 5apples =£1.25
1 apple = 25p =125
3 apples = 75p So £2=5$2.50
300 apples = £75 £3=$3.75

A car is travelling 40mph

So 40 miles = 60 minutes (1 hour)
20 miles = 30 minutes
10 miles = 15 minutes etc

How long will it take to go 100 miles?
40 miles = 60 minutes
20 miles = 30 minutes

100 miles = 150 minutes

150 minutes = 2 hours 30 minutes




Skill 1— Collecting Like Terms.

3a+4b —a+2b —6

3a—a +4b + 2b -6
N ¥
2a+6b—6

7x? — x?

7x% — 4x — x? + 3x

—4x + 3x

N

6x% —x

Skill 2—Expanding Brackets. Grid Method.

Expanding a single term over a bracket

Expanding double brackets

Expand & Simplify:
4(3x +6)
<
x  3x +6

e Tt

-
12x + 24

Skill 3—Dividing into a Ratio

+4 | +4x | +8

Josh and Jack the bandits stole £20 from the bank!

They divided it in the ratio 2 : 3
How much did they each get?

Draw a Bar Model to calculate | £20+5=
how much one part is worth. J£4 per part

xpand & Smality.
(x+2)(x+4)
>
x +2
x x| 2x

=
X+ 2x+4x+8
=
2+ 6x+8

£8

%
£41£4 5 parts
£4

% £4|£4 in total

Jack
£12

Josh gets £8. Jack gets £12.
How can we check our answer?

Retrieval Core Maths knowledge | ¢ -7

Skill 4—Factorising

s

. 4 Y
FEEIEE Factorise:
6x + 4 x2=7x +10
1) Findthe  2) Divide each term Write down the fac:t;f%aiés:gr the number term:
HCF of by the HCF. :
the terms. Find the factor pairs which sum to the x-coefficient: 2 x 5
6x +4
7 = 3x T = +2 % x -2
/ / x
-5
2(3x+2) -2)x-5)
Check by expanding the bracket. _ Double check by expanding the brackets. J

Skill 5—Equivalence

12 sweets cost £5.40. How much do 5 cost? '

12 ¢ 12 sweets 1 £540 N -,

1 sweet
x5 Q 5 sweets

:£0.45 &
2205 LXS

12 sweets cost £5.40. How much do 5 cost? '

5‘( 12 sweets : £540 Y . &

12 % 5 sweets

2225 ¢ I




